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Puzzle 1 (Medium, difficulty rating

|
[(o] RS R and [99] (e o] K@) [l KaN] I (9] \/5_{1492863 \)891325647 %539481762
<2 2 e
[aN][e o] Kap] | nud RS (0] huud [(o] Ke)] 0.394_.068172_ AU.6437981_.02- %647352891
~ s .._w
DO~ |O| N <FT|oo|an ..m286317954 m275146893 e[SV R Kool [o2] (<o) ad B [X@) Kap)
© o 2
=} = £
© ° €
MO O M| —N|LO| O vv.‘|.n/_Qu_frOnOQuA.Qu |0y9826_.04731 =1 A5 e SV X9 [e2] Kap] [(o) Rl Ko@)
)
(7] jl
© [ (]
N ™ <
[e o] R aud [(@] [o>] I ol K9 9] [K@] RS KoV | o] F|O|N]— |00 O o~ |N| SO H|m || © o M|N|—|Oo| OO~
R N R




